WORK PAPERS FOR PROBLEMS

Problem 1    Work Papers

b. d. e.  Horizontal Statements Model

	
	
	Assets
	=
	Equity
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	Com.
	
	Ret.
	
	
	
	
	
	
	
	

	Events
	
	Cash
	+
	Inv.
	=
	Stk.
	+
	Ear.
	
	Rev.
	–
	Exp.
	=
	Net Inc.
	
	Cash Flow

	1
	
	60,000
	+
	
	=
	60,000
	+
	
	
	
	–
	
	=
	
	
	
60,000
FA

	2
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	3
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	4
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	5
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	6
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	7
	
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	Totals
	
	62,000
	+
	10,000
	=
	60,000
	+
	12,000
	
	56,000
	–
	44,000
	=
	12,000
	
	
62,000    NC

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Problem 2    Work Papers

Horizontal Statements Model

	
	
	Assets
	=
	Equity
	
	
	
	
	
	
	
	

	Event
	
	
	
	Office
	
	Manuf.
	
	
	
	Com.
	
	Ret.
	
	
	
	
	
	
	
	

	No.
	
	Cash
	+
	Furn.*
	+
	Equip.*
	+
	Inv.
	=
	Stk.
	+
	Ear.
	
	Rev.
	–
	Exp.
	=
	Net Inc.
	
	Cash Flow

	1
	
	61,000
	+
	
	+
	
	+
	
	=
	61,000
	+
	
	
	
	–
	
	=
	
	
	
61,000
FA

	2
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	3
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	4
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	5a
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	5b
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	6a
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	6b
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	7a
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	7b
	
	
	+
	
	+
	
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	

	Totals
	
	33,500
	+
	7,400
	+
	18,000
	+
	4,750
	=
	61,000
	+
	2,650
	
	22,800
	–
	20,150
	=
	2,650
	
	
33,500


	*Record accumulated depreciation as negative amounts in these columns.

	


Problem 3  Work Papers

a.1. 

	Number of People Attending 
	1,000
	2,000
	4,000

	Total Commission Cost 
	
	
	

	Average Commission Cost Per Person 
	
	
	

	
	
	
	


Type of cost:  

a.2.

	Number of People Attending 
	1,000
	2,000
	4,000

	Total Cost of Books 
	
	
	

	Average Per Unit Book Cost 
	
	
	

	
	
	
	


Type of cost:  

b.1.

	Number of Tickets Sold
	3,600
	% Change
	4,000
	% Change
	4,400

	
	
	
	
	
	

	Revenue ($6 Per Ticket)
	
	((   %)(
	
	(+   %(
	

	Commission Cost (Fixed)
	
	
	
	
	

	Net Income
	$ 1,600
	((   %)(
	$ 4,000
	(+   %(
	$ 6,400

	
	
	
	
	
	



Percentage Change in Revenue:



Percentage Change in Net Income:


b.2.

	Number of Tickets Sold
	3,600
	% Change
	4,000
	% Change
	4,400

	
	
	
	
	
	

	Revenue ($6 Per Ticket)
	
	((   %)(
	$24,000
	(+   %(
	

	Commission Cost (Variable)
	
	
	20,000
	
	

	Net Income
	$ 3,600
	((   %)(
	$ 4,000
	(+   %(
	$ 4,400

	
	
	
	
	
	



Percentage Change in Revenue:       


Percentage Change in Net Income:   

Problem 3   Work Papers, continued
c.1.  (Same as part a.1.)

	Number of People Attending 
	1,000
	2,000
	4,000

	Total Commission Cost 
	
	
	

	Average Commission Cost Per Person 
	
	
	

	
	
	
	


Type of cost:

c.2.

	Number of Exhibitions (a)
	1
	2
	3

	Total Expected Commission Cost 
	
	
	

	Cost Per Exhibition 
	
	
	

	
	
	
	


Type of cost: 

Problem 4   Work Papers

a.

	
	
	My

Company
	
	Your

Company
	

	Number of Rafters 
	
	4,000
	
	4,000
	

	
	
	
	
	
	

	Revenue
	
	
	
	
	

	Cost of Guides My Company
	Fixed
	
	
	
	

	Cost of Guides Your Company 
	Variable
	
	
	
	

	Net income
	
	
	
	
	

	
	
	
	
	
	


b.

	
	
	My

Company
	
	Your

Company
	

	Number of Rafters (a)
	
	6,000
	
	2,000
	

	
	
	
	
	
	

	Revenue My Company 
	
	
	
	
	

	Revenue Your Company 
	
	
	
	
	

	Cost of Guides My Company
	Fixed
	
	
	
	

	Cost of Guides Your Company
	Variable
	
	
	
	

	Net Income
	
	
	
	
	

	
	
	
	
	
	


d.

	
	
	My

Company
	
	Your

Company
	

	Number of Rafters 
	
	4,000
	
	4,000
	

	
	
	
	
	
	

	Revenue 
	
	
	
	
	

	Cost of Guides My Company
	Fixed
	
	
	
	

	Cost of Guides Your Company 
	Variable
	
	
	
	

	Net Loss
	
	
	
	
	

	
	
	
	
	
	


Problem 5   Work Papers

a. Income Statement Using a Contribution Margin Format, Volume of 100 Deliveries 

	
	
	

	Revenue  
	
	

	Variable Expenses 
	
	

	Contribution Margin
	
	

	Fixed Expenses
	
	

	Net Income
	
	

	
	
	


b. Magnitude of Operating Leverage = Contribution Margin ( Net Income: 

$________  ÷  $_________ =  ___  times.

Therefore, a 10% increase in sales will produce a _________ increase in net income.  Similarly, a 10% decrease in sales will produce a  __________ decrease in net income. 

c. Income Statement Using a Contribution Margin Format, Volume of 110 Deliveries 

	
	
	

	Revenue  
	
	

	Variable Expenses 
	
	

	Contribution Margin
	
	

	Fixed Expenses
	
	

	Net Income
	
	

	
	
	


(Alternative Net Income  ( Base Net Income) ( Base:

($______ ( $______) ( $______ = _____%
Problem 6 Work Paper

	Cost Items
	Hotel
	Training

Facility
	Relevant?
	Cost

Behavior
	Product

or GS&A
	

	Rental Fee for Classroom
	$2,000
	$1,500
	
	
	
	

	Twenty Advertising

   Brochures Distributed to 

   each Student for

   Referrals
	250
	250
	
	
	
	

	Cost of Instruction
	5,000
	5,000
	
	
	
	

	Books (per student)
	100
	100
	
	
	
	

	Refreshments

   (per student)
	5
	4
	
	
	
	

	  Depreciation on Instructional Equipment
	400
	400
	
	
	
	

	Allocated Portion of

   Accounts Receivable 

   Collection Costs
	450
	500
	
	
	
	

	
	
	
	
	
	
	


Problem 7  Work Papers
a.

	Rosson Company

Horizontal Analysis of Income Statements

	
	2004
	2003
	% Change

	Revenues:
	
	
	

	 Net Sales
	$299,000
	$246,000
	

	 Other Revenues
	8,000
	9,000
	

	   Total Revenues
	307,000
	255,000
	

	Expenses:
	
	
	

	 Cost of Goods Sold
	172,000
	138,000
	

	 S,G&A Expenses
	44,000
	40,000
	

	 Interest Expense
	4,000
	4,500
	

	 Income Tax Expense 
	31,000
	25,400
	

	   Total Expenses
	251,000
	207,900
	

	Income Before X/O Items
	56,000
	47,100
	

	 Extraordinary Gain (net of tax)
	9,000
	0
	

	Net Income
	$  65,000
	$  47,100
	

	
	
	
	


Problem 7  Work Papers
a. continued
	Rosson Company

Horizontal Analysis of Balance Sheets

	
	2004
	2003
	% Change

	Assets
	
	
	

	 Cash
	$    7,500
	$ 12,500
	

	 Marketable Securities
	1,000
	1,500
	

	 Accounts Receivable
	50,000
	47,500
	

	 Inventories
	150,000
	145,000
	

	 Prepaid Expenses
	5,000
	2,500
	

	   Total Current Assets
	213,500
	209,000
	

	 Plant and Equipment (net)
	147,000
	157,000
	

	 Intangibles
	30,500
	0
	

	   Total Assets
	$391,000
	$366,000
	

	Liabilities
	
	
	

	 Accounts Payable
	$  58,000
	$ 79,500
	

	 Other Accrued Liabilities
	25,000
	22,500
	

	   Total Current Liabilities
	83,000
	102,000
	

	 Bonds Payable
	90,000
	100,000
	

	   Total Liabilities
	173,000
	202,000
	

	Stockholders’ Equity
	
	
	

	 Common Stock ($5 par)
	130,000
	130,000
	

	 Paid-in Cap. in Excess of Par
	20,000
	20,000
	

	 Retained Earnings
	68,000
	14,000
	

	   Total Stockholders’ Equity
	218,000
	164,000
	

	Total Equities
	$391,000
	$366,000
	

	
	
	
	


Problem 7  Work Papers
b. 
	Rosson Company

Vertical Analysis of Income Statements

	
	2004
	2003

	
	Amount
	% of Total
	Amount
	% of Total

	Revenues:
	
	
	
	

	 Net Sales
	$299,000
	
	$246,000
	

	 Other Revenues
	8,000
	
	9,000
	

	   Total Revenues
	307,000
	
	255,000
	

	Expenses:
	
	
	
	

	 Cost of Goods Sold
	172,000
	
	138,000
	

	 S,G&A Expenses
	44,000
	
	40,000
	

	 Interest Expense
	4,000
	
	4,500
	

	 Income Tax Expense 
	31,000
	
	25,400
	

	   Total Expenses
	251,000
	               *
	207,900
	              *

	Income Before X/O Items
	56,000
	
	47,100
	

	 Extraordinary Gain (net of tax)
	9,000
	
	0
	

	Net Income
	$  65,000
	
	$  47,100
	

	
	
	
	
	


*Percentages don’t add up exactly because of rounding.

Problem 7  Work Papers
b. continued
	Rosson Company

Vertical Analysis of Balance Sheets

	
	2004
	2003

	
	Amount
	% of Total
	Amount
	% of Total

	Assets
	
	
	
	

	 Cash
	$    7,500
	
	$ 12,500
	

	 Marketable Securities
	1,000
	
	1,500
	

	 Accounts Receivable
	50,000
	
	47,500
	

	 Inventories
	150,000
	
	145,000
	

	 Prepaid Expenses
	5,000
	
	2,500
	

	   Total Current Assets
	213,500
	               *
	209,000
	              *

	 Plant and Equipment (net)
	147,000
	
	157,000
	

	 Intangibles
	30,500
	
	0
	

	   Total Assets
	$391,000
	
	$366,000
	

	Liabilities
	
	
	
	

	 Accounts Payable
	$  58,000
	
	$ 79,500
	

	 Other Accrued Liabilities
	25,000
	
	22,500
	

	   Total Current Liabilities
	83,000
	               *
	102,000
	

	 Bonds Payable
	90,000
	
	100,000
	

	   Total Liabilities
	173,000
	
	202,000
	

	Stockholders’ Equity
	
	
	
	

	 Common Stock ($5 par)
	130,000
	
	130,000
	

	 Paid-in Cap. in Excess of Par
	20,000
	
	20,000
	

	 Retained Earnings
	68,000
	
	14,000
	

	   Total Stockholders’ Equity
	218,000
	               *
	164,000
	

	Total Equities
	$391,000
	
	$366,000
	

	
	
	
	
	


*Percentages don’t add up exactly because of rounding.

Problem 7  Work Papers
c.  Liquidity Ratios

	(1)
	
	-
	
	=
	Working Capital

	2004
	
	-
	
	=
	$130,500

	2003
	
	-
	
	=
	$107,000


	(2) Current Ratio
	2004
	2003

	
	=
	
	= ___to 1
	
	= ___ to 1

	
	
	
	
	
	


	(3) Quick (Acid-test) Ratio
	2004
	2003

	                                                             1
	=
	
	= ___to 1
	
	= ___ to 1

	
	
	
	
	
	


12004:  

 2003:  

	(4) Accts. Receivable Turnover
	2004
	2003

	
	=
	
	= ___ 

   times
	
	= ___

   times

	
	
	            2
	
	
	


2

	(5) Average Collection Period
	2004
	2003

	
	=
	
	= ____ 

   days
	
	= ____

   days

	
	
	
	
	
	


	(6) Inventory Turnover
	2004
	2003

	
	=
	
	= ____

    times
	
	= ____

   times

	
	
	                3
	
	
	


3

	(7) Days to Sell Inventory
	2004
	2003

	
	=
	
	= ____

   days
	
	= ___ days

	
	
	
	
	
	


Problem 7  Work Papers
d.  Solvency Ratios

	(1) Liabilities to Total Equity
	2004
	2003

	
	=
	
	=          %
	
	=           %

	
	
	
	
	
	


	(2) Stockholders’ Equity Ratio
	2004
	2003

	
	=
	
	= 55.6%
	
	= 44.8%

	
	
	
	
	
	


	(3) Debt/Equity Ratio
	2004
	2003

	
	=
	
	= 79.4%
	
	= 123.2%

	
	
	
	
	
	


	(4) Times Interest Earned
	2004
	2003

	
	=
	              *
	= ____

   times
	 
	= ____

   times

	
	
	
	
	
	


*Before extraordinary gain

	(5) Plant Assets to LT Liab.
	2004
	2003

	
	=
	
	= ___ to 1
	
	= ___ to 1

	
	
	
	
	
	


e.  Profitability Ratios

	(1) Net Margin
	2004
	2003

	
	=
	
	=          %
	
	=             %

	
	
	
	
	
	


	(2) Turnover of Assets
	2004
	2003

	
	=
	
	=  
	
	= 

	
	
	                4
	
	
	


4
Problem 7  Work Papers
e.  Profitability Ratios, continued

	(3) Return on Investment
	2004
	2003

	
	=
	
	= ____%
	
	= ____%

	
	
	                    5
	
	
	


5(See footnote 4 above)

	(4) Return on Equity
	2004
	2003

	
	=
	
	= ____%
	
	= _____%

	
	
	                       6
	
	
	


6
f.  Stock Market Ratios

	(1) Earnings Per Share
	2004
	2003

	
	=
	
	= $
	
	= $

	
	
	                   7
	
	                  7
	


7
	(2) Book Value Per Share
	2004
	2003

	
	=
	
	= $
	
	= $

	
	
	
	
	
	


	(3) Price-earnings Ratio
	2004
	2003

	
	=
	
	= 
	
	= 

	
	
	
	
	
	


	(4) Dividend Yield
	2004
	2003

	
	=
	             8
	=         %
	             9
	=          %

	
	
	
	
	
	


8
9













































16
13

